$= 3\begin{vmatrix} 1 & -2 \\ 3 & 4 \end{vmatrix} - 2\begin{vmatrix} 0 & -2 \\ 1 & 4 \end{vmatrix} + 1\begin{vmatrix} 0 & 1 \\ 1 & 3 \end{vmatrix}$ = 3(4+6) - 2(0+2) + 1(0-1)= 30 - 4 - 1= 25 $|\mathbf{A}|$ $= 3\begin{vmatrix} 1 & -2 \\ 3 & 4 \end{vmatrix} - 0\begin{vmatrix} 2 & 1 \\ 3 & 4 \end{vmatrix} + 1\begin{vmatrix} 0 & 1 \\ 1 & 3 \end{vmatrix}$ $|\mathbf{A}|$ (b) = 3 (4 + 6) + 1 (-4 - 1)= 30 - 5= 25 $|\mathbf{A}|$ The following properties of determinants are frequently useful in O UK valuation: 9.7 their evaluation: 1. Interchanging the corresponding rows and umns of а determinant does not change in vit A). For example, consider a de er n nan $\begin{array}{ccc} \mathbf{a}_1 & \mathbf{b}_1 & \mathbf{c}_1 \\ \mathbf{a}_2 & \mathbf{p}_2 & \mathbf{a}_2 \end{array}$ (1) a_3 $= a_1(b_2c_3 - b_3c_2) - b_1(a_2c_3 - a_3c_2) + c_1(a_2b_3 - a_3b_2) \dots (2)$ Now again consider $= \begin{vmatrix} a_1 & a_2 & a_3 \\ b_1 & b_2 & b_3 \\ c_1 & c_2 & c_3 \end{vmatrix}$ $|\mathbf{B}|$ Expand it by first column $= a_1(b_2c_3 - b_3c_2) - b_1(a_2c_3 - a_3c_2) + c_1(a_2b_3 - a_3b_2)$ $|\mathbf{B}|$ which is same as equation (2) $|\mathbf{B}| = \begin{vmatrix} a_1 & b_1 & c_1 \\ a_2 & b_2 & c_2 \\ a_3 & b_3 & c_3 \end{vmatrix}$ so |B| = |A|or 2. If two rows or two columns of a determinant are interchanged, the sign of the determinant is changed but its absolute value is unchanged.

For example if

$$|A| = \begin{vmatrix} a_{1} & b_{1} & c_{1} \\ a_{2} & b_{2} & c_{2} \\ a_{3} & b_{3} & c_{3} \end{vmatrix}$$

Consider a determinant, $|B| = \begin{vmatrix} ka_{1} & kb_{1} & kc_{1} \\ a_{2} & b_{2} & c_{2} \\ a_{3} & b_{3} & c_{3} \end{vmatrix}$
$$|B| = ka_{1}(b_{2}c_{3} - b_{3}c_{3}) - kb_{1}(a_{2}c_{3} - a_{3}c_{2}) + kc_{1}(a_{2}b_{3} - a_{3}b_{2}) = k(a_{1}(b_{2}c_{3} - b_{3}c_{3}) - b_{1}(a_{2}c_{3} - a_{3}c_{2}) + c_{1}(a_{2}b_{3} - a_{3}b_{2}))$$
$$|B| = k \begin{vmatrix} a_{1} & b_{1} & c_{1} \\ a_{2} & b_{2} & c_{2} \\ a_{3} & b_{3} & c_{3} \end{vmatrix}$$

Or $|B| = k \begin{vmatrix} a_{1} & b_{1} & c_{1} \\ a_{2} & b_{2} & c_{2} \\ a_{3} & b_{3} & c_{3} \end{vmatrix}$
Or $|B| = K|A|$
6. The value of a determinant is per that bed if each eleptien of any row or of any columns is activated form a constant multiple of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poinding element to abother row or column.
For each left in the set of the varies poind abother row or column.
For each left in the set of the varies poind abother row or column.
For each left in the set of the varies of the varies

Solution of Linear Equations by Determinants: 9.8 (Cramer's Rule) Consider a system of linear equations in two variables x and y, $a_1x + b_1y = c_1$ (1) $a_2x + b_2y = c_2$ (2)Multiply equation (1) by b_2 and equation (2) by b_1 and subtracting, we get . . 1 1 1 1

$$x(a_1b_2 - a_2b_1) = b_2c_1 - b_1c_2$$

$$x = \frac{b_2c_1 - b_1c_2}{a_1b_2 - a_2b_1}$$
(3)

Again multiply eq. (1) by a_2 and eq. (2) by a_1 and subtracting, we

get

Again multiply eq. (1) by
$$a_2$$
 and eq. (2) by a_1 and subtracting, we

$$y(a_2b_1 - a_1b_2) = a_2c_1 - a_1c_2$$

$$y = \frac{a_2c_1 - a_1c_2}{a_2b_1 - a_1b_2}$$

$$y = \frac{a_2c_0a_2c_1}{a_1b_2 - a_2b_1}$$

$$y = \frac{a_1c_0a_2c_1}{a_1b_2 - a_2b_1}$$
(4)
Due that x and y from equations (3) and (4) has the same form nator $a_1b_2 - a_2b_1$. So the system of equations (1) and (2) has

deno solution only when $a_1b_2 - a_2b_1 \neq 0$.

 $y(a_2b_1 - a_1b_2) = a_2c_1 - a_1c_2$

The solutions for x and y of the system of equations (1) and (2) can be written directly in terms of determinants without any algebraic operations, as

$$\mathbf{x} = \frac{\begin{vmatrix} c_1 & b_1 \\ c_2 & b_2 \end{vmatrix}}{\begin{vmatrix} a_1 & b_1 \\ a_2 & b_2 \end{vmatrix}} \text{ and } \mathbf{y} = \frac{\begin{vmatrix} a_1 & c_1 \\ a_2 & c_2 \end{vmatrix}}{\begin{vmatrix} a_1 & b_1 \\ a_2 & b_2 \end{vmatrix}}$$

This result is called Cramer's Rule.

 $\begin{vmatrix} a_1 & b_1 \\ a_2 & b_2 \end{vmatrix} = |A|$ is the determinant of the coefficient of x and y Here

in equations (1) and (2)

If
$$\begin{vmatrix} c_1 & b_1 \\ c_2 & b_2 \end{vmatrix} = |A|$$

and
$$BA = \begin{bmatrix} 7 & 3 \\ 2 & 1 \end{bmatrix} \begin{bmatrix} 1 & -3 \\ -2 & 7 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}$$

Hence $AB = BA = I$
and therefore $B = A^{-1} = \begin{bmatrix} 7 & 3 \\ 2 & 1 \end{bmatrix}$

Example 10: Find the inverse, if it exists, of the matrix. $\begin{bmatrix} 0 & 2 \\ 2 & 2 \end{bmatrix}$

$$A = \begin{bmatrix} 0 & -2 & -3 \\ 1 & 3 & 3 \\ -1 & -2 & -2 \end{bmatrix}$$

Solution:
$$|A| = 0 + 2 (-2 + 3) - 3(-2 + 3) + Otesale. Co.uk$$
$$|A| = -1, \text{ Hence solution of } \text{ Assignment} \text{ Algent} \text{ Al$$

Matrices and Determinants



255



Q.1	(1) c	(2) a	(3) d	(4) a	(5) c	(6) c
	(7) a	(8) b	(9) a	(10) c	(11) d	(12) d
	(13) c	(14) d	(15) d	(16) d	(17) d	(18) a
	(19) b	(20) d				